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(REVISED COURSE) 
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(i) All questions are. compulsory.

(ii) Use of a calculator is not allowed.

Max. Marks : 40 

(iii) The numbers to the right_ of the questions indicate full marks.

(i.u) In case of MCQs [Q. No. l(A)] only the first attempt will be evaluated 

and will be given credit. 

(v) Draw proper figures wherever necessary.

(vi) The marks of construction should be clear. Do not erase them.

(vii) Diagram is essential for writing the proof of the theoreI!l·
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1. (Al Four alt,•rnnUv,, an11w••r11 ror ,,,u,., ,,f fJ,;. t11Uuttrl1t#

sub-,1u,•sUons UN' aclv••11. Choo111� t.hfl ,,nrr,•nf. ,dt,�rn #tk• """ 

write its alphab,•t : 

Cl) 

triplet ?

lA) 15/R/17 

(8) 16/8/lH

(Cl :l/fi/17 

( D > '1/H/15 

�jn OX COl-l'l" ()

lA) 1 

<B) 0 

1 
2 

(Al l 

(U> .J 

'J 

,f
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\·A) l �
·-' ffl\

tDI 9 cm 

�Bl Sol,� • following sub-questions : 

\l) If .1 ABC - .1 PQR and AB : PQ = 2 : 3, then find the value 

of Al� AB(') . 

A (.1 PQR) 

,2) Two circles of radii 5 cm and 3.cm touch each other externaJJy. 

Find the distance between their centres. 

(3) Find the side of a square whose diagonal is IOJ:i cm.

t4) Anglt- made by the line with the positive direction of X-axiH is 

45•. Find the slope of that Jina . 
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2, L,1 Complete any two activities and rewrite it :

B 

In the above figure, LABC is inscribed in arc ABC. 

H LABC = 60". find m LAOC.

Solution : 

1 
LABC = 

2 m(arc AXC) .............. ._I--�

1 
60° = - m(arc AXC)

2

__ __.I = m(arc AXC)

But mLAOC = jm(arc � .... ) I ...... ,. (Property of central angle)

:. mLAOC =I.._ __ 
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'2 · Find die vaJue of sin1 9 + cos1 8.

... ' 
' 

L 
B
Solution : 

In �ABC, LABC = 900, LC = 0°.

C 

AB2 + BC2 = D .............. _.. (Pythagoras theorem)
Divide both sides by AC2

AB2 BC2 AC2 

--+--=--AC2 AC2 AC2 

- + - -1(AB)2 

(BC)2 _ 

AC AC 
AB D �= □But AC = and AC 
sin2 a+ cos2 

a ::: D

P.T.O. 
Previous Pathshala



(3 

6/N682 

In ,� figu.re given ·abov�, O ADCD i1 a square and a cin:le 

is U'l&cribed in it. A1 sides of a sqwtn'l ttmch the cittle. 

It AB .. 14 � find the aff'll of tchad«t region. 

Solution :

Att:s nf t'qUare 
- ,:or -·-·········· .. (Formul11}

- 142

• CJcm2

A.rea uf circ:� - D ............... (Formula)

�x7tt7 ii 7 

=- 1M nnl

f Area 'J( \ 

1
, Ares <.,r ·, l' Area of ·,

I.. shaded porhon J � , square 1
1 

- clrcle ;

� 196 - 1M 

- CJ cm2
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Solve anv "' f � ,our o the following sub-questions : 8 

Radius of n sector of a circle is 3.5 cm and length of its arc is

2.2 cm. Find thn area of the sector. 

(:2) Find the length of the hypotenuse of a rightrangled triangle if 

remaining sides are 9 cm and 12 cm. 

M 

In the above figure, m(arc NS) - 125�, m(arc EF) = 37°. 

Find the measure of LNMS.

(4) Find the slope of the line passing through the points

A(2, 3), B(4, 7).

(5) Find the surface area of a sphere of radius 7 cm.

P.T.0. 
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(A> Conlplt•t,� nny <>n,? activity of the following a11d rewrite it : 3

( I ) A 

In L\ ABC, ray BD bisects LABC, A - D - C, seg DE II side BC,
· AB AE A - E - B, then for showing BC = EH, complete the following

activity 

Proof:· 

In 6 ABC, ray· BD bisects LB

□ = AD .................. (I) (□)
BC DC 

In Ll ABC, DE II BC 

□ = AD .................. (II)(□) 
EB DC 

AB· □ 
0 = EB -- .................. f from (I) and (II)J
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Given : 
' 

Chords AB and CD of" drt•lt1 with ventru I' 1111,ttl'�tsd, "'·'"'"''·Jr,
To prove : 

AE x Jt:D = CE x �!I> 

Construction :

Draw seg AC and se1,t BD. 

Fill in the blanks und con1pl(,to tho proof. 

Proof: 

In 6 CAE and d BOE 

LAEC = LDEB .......... · ....... .._j __ 

1--f __ _.] = LBDE (angles inscribed in the same arc)

6 CAE - d BDE .............. I I. 

. . 

.. . 

. . 

. 
. . 

� = CJ ······· ······· ..__[ _I

AE X EB ::::. CE X ED .

P.T.O. 
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tU) Solve, nny lwo of f.lw followlnK lfub-queitlon, : 

t l) I >,,tC11·mi1w whot.lwr Uw poinb, ure collinoar. 

A( I, --:n, 8(2, --5), C:(-4, 7) 

8 

t.?) t\ ABC .. t\ LMN. In ti ABC, AB = 5.5 cm, BC = 6 cm, 

CA = 4 .l'i cm. ConHtruct A ABC and I!,, LMN such that 

BC 
MN 

6 

l:3) Seg PM is a median of fl PQR, PM = 9 and PQ2 + PR2 = 290, . 

then find QR. 

(4) Prove that, 'If a line parallel .to a side of a triangle intersects

the remaining sides in two distiqct points, then the line divides

the side in the same proportion'.

Solve any two of the following sub-questions : 8 

1 1 1 1 1 1 

sin2 8 - cos2 8 -tan2 8 - cot2 8 - sec2 8 - cosec28 = - 3' then 6nd the

value of 8. 

(2) A cylinder of radius 12 cm contains water up to the height 20 cm.

A. spherical iron ball is. dropped into the cylinder .and thus water level

raised by 6. 75 cm .. What is the radius of iron ball ?

(3) Draw a circle with centre O having radius 3 cm. Draw tangent
. .

segments PA ·and PB through the point P outside the circle such that

LAPB = 700.
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Solve any one of the followinl 11uh-qutt1Uon11 , • 

(1) 0 ABCD is trnpu:1.ium, All II CU ditt11onttltt of t.r1i1�1.1um 11,t.111,,d,.

in point P.

Write the answerR of the foHowing qutu,tiom,

(a) Draw the figure using given information.

(b) Write any one pair of alternate anaJes and Of.>J)oiitb •n11lb•-

(c) Write the· names of similar trionglc1ij with tA.1_.L of •imiharity

(2) AB is a chord of a circle with centre 0. AOC ; .. diiunuwr ,,f' drdci, AT

is a tangent at A.

Write answers of the f oJJowing questionH 

(a) Draw the figure using given inforrnMtion.

(b) Find the measures of LCAT and LABC with re11�on1,t

(c) Whether LCAT and LABC are congruent '! ,Ju11tif'y your

answer.
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